Year 1 —Multiplication There are 3 bags. There are 6 sweets in each bag. How many sweets are there

Lesson 8 problem solving altogether?

There are 2 plates. There are 4 slices of pizza on each plate. How many slices of pizza
are there altogether?

There are sweets altogether.
There are slices of pizza altogether.
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@ There are 5 ponds. There are 2 ducks in each pond. How many ducks are there alto- There are 4 cars. There is 1 person in each car. How many people are there
gether? altogether?

There are ducks altogether.

There are people altogether.




